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Which of the following statements is correct ?

A) Y=C+1
(B) In Economics Equilibrium level of income (¥) = Equilibrium level of
output (O ) = Equilibrium level of employment (N)

IC) C+S=C+1

(D) All of these
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Which institution was constituted in Bretton Wood Conference in 1944




fm None of these

afi ahy s st ey e 09 & @ ,

(B)
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s 20 a 0.0, then what 18 multiplier 7
If Marginal Propensity to Consume [MPC) 18 :
(A) 0 (B)
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(C) 10
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. virtue’ but a ‘'social vice" ¢
Which cconomist regarded savings as a pi iwwvatle virtuc but a

IA, j'JIH““ IB) Robertson
(C) Keynes (D) J.B. Say I
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Budget made on the basis of performance in activitics is known as
(A) Gender Budget (B)  Balanced Budget
(C) Performance Budge! (D) none of these
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Aggregate Demand is Macro-concept

Aggregate Dumand cu
rve has a positive slope
Both (B) and (C)
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Which of the following statcments 18 ploys
of full employment always in the cconomy

, There is state 1
Milnnpulihﬂityo!m-nrundﬁ-pMH

 Both (A) and (8
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Which of the following statements is truc ?
Overdrafl is permitted to those custom

‘9 the bank arity
B) Overdraft is granted after acquinng full sec
Overdralt is granted generally for a year

(C)
(D)  All of these
a1 Haepfa o
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(D) T HE AV
In situation of deflation

irities in open market

(A) Central bank sells secu
Central bank purchases securities in open market

o
C) Central bank adopts credit ereation measures

(D) All of these
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(A)  Riaws wfafa (1990
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1is the component of Net Factor Income
Import and export of goods
Hctlmmpcnnliun of emplovees

(€)  Accidental breakdown of machinery
(D)  All of these

IR 0od &I T @ e fafa k2
(A)  Ffm 3mr b

(B) W& 9% fah

(C) s~ 37 fafe = e iy faha

(D) §98 § &13 =8 *
Which is the method of calculation of value of output ?

(A) Final Product Mecthod

iB) Value Added Method

EL‘I Final Product Me¢thod and
(D) None of these

Value Added Method

15 fipg oftumt & FFER, e T Fid Az @ g W aew 9, ¢fied, Tafrm
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(A) FaEgE G B)  dEfan g ,
. (¢ 3faa afoad D) FHE |l

According to which definition not only coins and currency notes
dies. exchange bill etc. are also included in money #

e¢s, hun n
Broad definitions (B) Narrow definitions
Reasonable defintions (D) Al of these
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Which ol the following statements is R
(A) Marginal opportunity cost is the ratio of loss and profit
(B) Marginal opportunily cost expresses the cost of an additional unit of
" prnrim'n m

(€) Marginal opportunity cost expresses total loss

(D) Both (A) and (B)
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slope of production possibility curve shows
Marginal opportunity cost

pportunity cost
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€ (A 3R (g 2 (D)
Constant returns to a factor shows s
(A) Average Production = Marginal Productio
(B) Average Cost = Marginal Cost

([C)  both (A) and (B)

(D) none of these

72, W e & gRadTeiel @A 9 :
(A) X-318 & ®uAL B & (B) 372l § AHIA iili" t

C) wwaEmiy sfrpaemsr M (D) Y-HY & oI g g
Total variable cost curve in linear form is

(A) Yurallel to X-axis (B) inverted S shaped
() Rectangular hyperbola (D)

Vertical to Y-axis
T S (TR ), IFE WA (Q) 1 I WA e B A1 Wi AT g
A TR, -TR S0

AQ
(C)  (A) IR (B) 5
Let TR be Total Revenue,
units then Marginal Reve

73.

D) 0 F &g
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A)  Hed (3

Who has given Functional Definition of Money ?
(B) Knapp '

(A]  Hartley Withers
(C) Seligman () None of them
&F@dﬂﬂmqﬂdlﬁhﬁﬂmﬂuﬂlﬂ?mlﬂ ?

(A) Wt qE B) 99
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1% equal to its intrinsic value 7
(B) Paper Money
{8 Noune ol these

Face value ol which moncy
(A) Token Moncy
(C) Standard Moncy

fre | | 1A 1 H A L A,
(A)  @nE M | vk wi aww
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Which is not the contingent function of money ?
(A)  Basis ol credit (B)  Bearer of option

(C) Helpful in Capital Maobility (D) Transler of value
g 41 %1 (AR ol & e 6T B S
(B) wgal g

: D) W | B 6

increases when CRR (Cash Reserve Ratio)
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© | (B)  Production
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(D) Al of these
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(D) &9/ W

Which of the lollowing is correct ?
(A) MPC and multiplier have dire
(H) MPS and multiplic
(C) Hoth [A) and (1)
(2) None of these
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r have inverse relntionship
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(A) Al gl ) gl g

(€) T A wr ) T F -I
Which of the following is a reason of appearing surplus demand ? i
(A) Increase in Public Expenditure A
(B)  Increase in Money supply
(€C)  Fall in Taxes
(D) Allof these
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Net Valu Added =
A)  Value of output + Intermediate consumption -
~ capital + Net Indirect tax
(B) Value of output - Intermediate consumption - Consu
ciapital - Net Indirect tax
{C) Value of output - Intermediate consumption *
capital = Net Indirect tnx
(D)  none of these

34, |MNE @O G V& TG 3 6 EE A R

(Al Tm2ta s @) wee fE
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Nel National Income at Factor cost is called =

(A) National Income (B Gross Investment I

(C) Domestic Income (D) none of these k
35 HEd &9 7T g afe &1 amu B L 7

(A) M, (B) M,

C) M, D) M, 4

Which money supply measure is least hquid ?
(A) M, (B) M,

(A) WY& (B) T FEEwR S
(© T & FE () i g 3
mu the Agency function of banks ?

a\d‘l‘llll:h'll Loans (B)  Accepting Deposits
(8 .l'hum (D)  Locker Facility
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Marginal Revenuce is shown as

A —_— TR
(Al AO B) o
A AR
1C) 0 (D} mnone of these
21. 9T % ¥ o 3R feweE ¥ wee € 2
A) 9 = AR \ g4 afg
(€ 9 & dFan D) FH A FE T8
Shifung ol supply curve towards nght is known as
(A) Extension of supply (B) Increase in supply
(C) Contraction in supply (D) None of these.
2. g e w Am Fefefar A fFa g A A W A § 2
A\ QO D 'U' 1
(A) = B B) <p*P
¢ \P AP P
Q AP p
(C) = x AP (D) X
\Q, Q. AQ,

From the following by which formula is the measurement of the clast
supply expressed ¢
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‘Mention any two differences between Perfect compe

S e wE?
: wmﬂmhmum? ~
F s e Wi .
: ‘Decrease in Demand’.
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d
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Distinguish between Returns (o scale' and Returns 10 a factor’.
Ry w3 ‘wfadaeie @A A s T PN |

Distinguish between Fixed cosl and "Variable cost
gﬁﬁmﬁ.aﬁmwaﬁuﬁﬂ'ﬁi ST 1§ ?

What arc Total Revenue, AVCTUET Revenue and Marginal Revenuc ?
eI il 41 € 2

What is Monopolistic Compcuion ?

‘gt s | 18 7
What is 'Price Floor Ceiling
qegdl gfa @ S B g 7
What is thec shape of wage supply curve ¢
Sy | gENal = s € ?
Whalt is mecant by scarcily in E
S I #4187

What is Marginal Production ?

FIE S #4187
What is Cost Function ? | :
bud o R # e Q) SR a |

P

conomics 7
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:::;i s "h“' difference between Net National Product at m
et National Product at factor cost (NNPy) ?

21 w?mﬂ“?”‘" Payment ?
?;'ﬁnu tl'::t:i:n-:c b, ﬁhﬂl
: pt of full employemnt,
22, Haw T &) g S wiEe s ) ameE
F:K'Fflﬂin the Forward' and ‘Backward' action of Investment Multiplier.
23. U= o ' wivtw o9’ & A9 S50
Mention the meaning of 'Excess Dt:rni;.nd In an economy.
24, T[IEH a9z 4 9 w7
What do you mean by Government Budget ?
25. T & Y FIL 7
What are the objectives of Budget ?
39‘ B9 719 &1 9ieTE %)
Define Balance of Trade.
27. FHifgw s | ad & 2
What arc Economic Transaclions ?
28, TG ife H1 F HY ¢ ?
What is meant by Fiscal Policy ?
an dhr Iraten fram @ ofeafes w5t
Define Law of equimarginal utility,
tfigs td srifias SO 4 3R W Fif)
 Distinguish between Voluntary and Involuntary




. @ 39T WY / Long Answer Type Questions .
9FT W 31 % 38 G awiie wr § | fAt 4 gt & awe & 1 0 & fv s s
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Nos. 31 to 38 : 4 questions. ques
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ABL M % ®ie @i i fafas geri w oot w1 5
Explain different types of Price Elasticity of Demand.
2. fax i weram @ ‘offr v o ofead o ‘g A wfad’ & A s T H S

Explain the difference between ‘Change in quantity supplied’ and ‘Change in
supply’ with the help of diagram. =

33 T o § o ‘wew wrewd o & o ot J wma Faics ' e

wifan 5
Under i - o a 'price-
mﬂmﬂlﬂmm&n. firm is 'price-taker’ and under mon poly a 'p

39 "ieudewie swa & Fram & aaemo 5
Explain Laws of Variable Proportion.

35 U AW W AEET w0 # a0z fafe ¥ e wfea smen wifa) 5
Explain the method to estimate National Income by Product method with an
cxample.

b &< 3% fem Hfodl @ svdegen 9 v # Pt s 2 5
With which methods docs the central bank control the credit in an economy ?

37. wiinEier, SFatae ud s S w1 KW wiea S| 5
Explain Progressive, Proportional and Regressive taxes with illustrations
#Zia 9% & P &1 w1 A S| 5

Explain important functions of central bank.




